T749F

VFANYNY

Ol ! (Dl (59002
©9L8 g Clindodd pgle ©)lj9
258 90! (hmiaw (Lol

(0)) s plol

S Mol olKiils S
€Ogu o0 Z Mol Cslow

(\YAY u5) (HSE) cums jlamo g Cuiling) (ind! (wcigo

A3 VAL 1 85wl (o

\

Y Mg 8 ylouis 9 Olani « ilowiol Sgo ylgae
Slasis G| Bylais 1 | Jlgw Slos Sliol dlgo s,
Yo | [ (wadS5) pamasii g o090 b |
f. Ys 10 Y (ol Y
80 14 10 et SYloss! g bl Y
v o Y. Sl f
Yoo v [ OB g O wsigo o
\Y. 1+ Y. o jlazno (owdigeo #

[ 418 ke & yod 59031 (! l

T~

yd

[ s 3o Ol piilo 31 solasiw! ]

P

[ Sgpiian 308301y o 32 liRio b g Wil oo oo (ool (3l 392%0 b gl (S g Sk Lol (ool 818 3903 (5315530 31 o (oen9 (SS9 531 Vg g 12 43 W LN g WSS il 3> J




Y axio T49F  (WWAY o) (HSE) Cons jlumo 3 coblogy o gios] owiided

ol (53031 e 53 Lo ygui pus & oy ¢ § Jgu il jiie 10 Ll g Slaskiew z 50 pas (ol 5 cdbgls #

oy Jus Byl soseslay o JolS BT 1 s erlbols 5 ket b ol
mloioe anl 1y placligewly ol 3 15w &2 388 ula (59, »

gl Sl) (a5 og0s Hbj

PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

1-  When you ---------- a meeting, it is important to speak clearly, confidently and at a good
pace.
1) assess 2) propagate 3) address 4) impress

2-  People like the newly proposed system, but because of the costs involved we do not
believe it is ---------- , and we need to look for other options.
1) compliant 2) defensive 3) ingenuous 4) viable

3-  The country in question is very poor, and one in seven children dies in ---------- s
1) infancy 2) nutrition 3) malfunction 4) mortality

4- I don’t consider myself to be particularly ---------- , but when I’m given a job, I make
sure it gets done.
1) industrious 2) spontaneous 3) risky 4) unexceptional

5-  The new airliner is more environmentally-friendly than other aircraft, its only ----------
being its limited flying range.

1) demand 2) drawback 3) controversy 4) attribute

6- The celebrity will ---------- assistance from the police to keep stalkers away from his
property.
1) extend 2) invoke 3) absolve 4) withdraw

7-  When plates in the Earth’s crust slide or grind against one another, an earthquake with
devastating consequences may be ---------- 3
1) derived 2) surpassed 3) triggered 4) traced

PART B: Cloze Test
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits

each space. Then mark the correct choice on your answer sheet.

The new species was named Maiacetus inuus, which means “mother whale,”
(8) -—-------- in the family Protocetidae. Assignment to a new species was justified due
to critical differences from other protocetid whales, such as solidly co-ossified left and
right dentaries (lower jaws), (9) ---------- in the ankle, and significant disparity in hind
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limb elements. The fossils show (10) ---------- this new species’ length is unimpressive
relative to some extant (living) whales, but still, Maiacetus inuus measures a
respectable 2.6 meters.

8- 1)placed 2) that placed 3) was placed 4) and was placed
9- 1) there were variations 2) varying

3) variations 4) which varied
10- 1) when 2) that 3) although 4) for

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best
choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1:

Arsenic occurs naturally in the environment as an element of the earth’s crust. Arsenic is
combined with other elements such as oxygen, chlorine, and sulfur to form inorganic
arsenic compounds. Exposure to higher-than-average levels of arsenic occurs mainly in
workplaces, near or in hazardous waste sites, and areas with high levels naturally occurring
in soil, rocks, and water.

Arsenic is used in many industries. It is used in some paints, wood preservatives,
agricultural chemicals, and in glass manufacturing. Some examples of workers at risk of
being exposed to arsenic include: agricultural or farm workers exposed to some farming
chemicals, employees involved in glass manufacturing, construction and mine workers
exposed to arsenic-containing soil, recyclers exposed to electronic or e-waste, workers who
perform nonferrous smelting-a process to extract metal from ore.

Arsenic exposure in the workplace occurs through inhalation, ingestion, dermal or eye
contact. Chronic exposure to arsenic leads to distinct skin diseases, such as arsenical
keratinosis, which is characterized by excessive formation of scaly skin on the palms and
soles; darkened patches of skin; wart formation; skin lesions; acne; and increased risk of
skin cancers. Chronic arsenic poisoning can also cause sudden constriction in arteries or
veins, reducing blood flow; decreased nerve function; lung, liver, kidney and bladder, and
other cancers. Acute exposures can cause lung distress and death. Industries that use
inorganic arsenic and its compounds, where sampling may be necessary, include wood
preservation, glass production, nonferrous metal alloys, electronic semiconductor
manufacturing, and smelter emissions. Arsenic and its compounds occur in crystalline,
powder, amorphous, or vitreous forms. National Institute for Occupational Safety and
Health (NIOSH) publications Provide a physical description, exposure limits, measurement
method, personal protection and sanitation, first aid, respirator recommendations, exposure
routes, symptoms, target organs, and cancer sites.

11- It can be inferred from paragraph 2 that ---------- ‘
1) Use of arsenical pesticides and chemicals by farmers can be the main cause of their
exposure
2) Arsenic compounds are used in glasses manufacturing
3) Farmhands are exposed to arsenic through soil
4) Gangue removal in iron ore can release arsenic
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13-

14-

15-

According to paragraph 3, chronic exposure to arsenic lead to ---------- 3
1) ocular Lesions

2) sudden dilation in vessels

3) formation of flaky skin in hands and feet

4) increased risk of lung, liver and bladder distress

The passage indicates that all of the followings are common routs of exposure to arsenic
EXCEPT

1) Breathing 2) Injection 3) Swallowing 4) Skin contact
The word “amorphous” in last paragraph could best replace by ---------- .
1) porous 2) odorless 3) formless 4) colorless

Itis NOT true accordmg to the passage that arsenic ----------
1) can be measured using the methods developed by OSHA
2) and its compounds have glassy form

3) occurs naturally in soil, air and water

4) is used in rubber and plastic

PASSAGE 2:

In the late 1980s, a disaster involving the Exxon Valdez, an oil tanker tasked with
transporting oil from southern Alaska to the West Coast of the United States, caused a
considerable amount of damage to the environment of Alaska. Crude oil from Alaska’s
North Slope fields near Prudhoe Bay on the north coast of Alaska is carried by pipeline to
the port of Valdez on the southern coast, and from there is shipped by tanker to the West
Coast. On March 24, 1989, the Exxon Valdez, a huge oil tanker more than three football
fields in length, went off course in a 16- kilometer-wide channel in Prince William Sound
near Valdez, Alaska, hitting submerged rocks and causing a tremendous oil spill. The
resulting oil slick spread rapidly and coated more than 1,600 kilometers (1,000 miles) of
coastline. Though actual numbers can never be known, it is believed that at least a half
million birds, thousands of seals and otters, quite a few whales, and an untold number of
fish were killed as a result.

Decades before this disaster, environmentalists had predicted just such an enormous oil
spill in this area because of the treacherous nature of the waters due to the submerged
reefs, icebergs, and violent storms there. They had urged that oil be transported to the
continental United States by land-based pipeline rather than by oil tanker or by undersea
pipeline to reduce the potential damage to the environment posed by the threat of an oil
spill. Alyeska, a consortium of the seven oil companies working in Alaska’s North Slope
fields, argued against such a land-based pipeline on the basis of the length of time that
such a pipeline would take to construct and on the belief, or perhaps wishful thinking,
that the probability of a tanker spill in the area was extremely low.

A step that could possibly have prevented the accident even though the tanker did run
into submerged rocks would have been a double hull on the tanker. Today, almost all
merchant ships have doubled hulls, but only a small percentage of oil tankers do.
Legislation passed since the spill requires all new tankers to be built with double hulls, but
many older tankers have received dispensations to avoid the $25 million cost per tanker to
convert a single hulled tanker to one with a double hull. However, compared with the $8.5
billion cost of the Exxon Valdez catastrophe, it is a comparatively paltry sum.
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What is stated in paragraph 1 about the oil industry in Alaska?

1) The oil fields are in the southern part of Alaska.

2) Oil is carried from the oil fields to Valdez by tanker.

3) Oil arrives in Valdez by pipeline and departs by ship.

4) Oil is transported from Valdez to the U.S. mainland through a pipeline.
Which point is NOT made by the environmentalists mentioned in paragraph 2?
1) That a huge oil spill in the waters off Alaska was possible.

2) That oil tankers should not be used to transport from Alaska.

3) That the waters off the coast of Alaska were dangerous for ships.

4) That an undersea pipeline was preferable to a land-based pipeline.

The author uses the expression “wishful thinking” in paragraph 2 in order to ----------
1) emphasize the idea that the belief was misguided.

2) emphasize the desire that the pipeline would be build.

3) emphasize the wish that a lot of oil would be discovered.

4) emphasize the hope that an oil spill could be cleaned up quickly.

In paragraph 2, “a consortium” is most likely ---------- i

1) a contract 2) a leader 3) a board 4) an association
The word “platry” in paragraph 3 is closest in meaning to ---------- .

1) unbelievable 2) insignificant 3) inaccurate 4) enormous
PASSAGE 3:

EPA partners with more than 50 data contributors from various government agencies,
academic institutions, and other U.S and international organizations to compile a key set
of indicators related to the causes and effects of climate change. Some indicators show
trends that can be more directly linked to human-induced climate change than others.
Collectively, the trends depicted in these indicators provide important evidence of “what
climate change looks like.” Although each indicator has a connection to climate change,
EPA’s indicators do not attempt to identify either the extent to which a certain indicator is
driving climate change, or the relative role of climate change in causing a trend in an
observed indicator. Connections between human activities, climate change, and observed
indicators are explored in more detail elsewhere in the scientific literature. Some of the
indicators are directly linked to human activities that cause climate change, such as Global
Greenhouse Gas Emissions. Changes depicted by other indicators, like U.S. and Global
Temperature, have been confidently linked with the increase in greenhouse gases caused
by human activity. Some of the trends in other indicators, such as Wildfires, are consistent
with what one would expect in a warming climate but may also be influenced by
limitations in the historical data or other factors in addition to climate change. A few
indicators, like West Nile Virus, though known to be influenced by climate change, do not
yet show any significant trend. In some cases, this could be because the period for which
data are available or the geographic scale in which they are presented is limited. EPA’s
greenhouse-gas-related indicators focus on most of the major, well-mixed greenhouse
gases that contribute to the vast majority of warming of the climate when they are emitted
into the atmosphere. These major gases are carbon dioxide, methane, nitrous oxide, and
fluorinated gases. Some of these gases are produced almost entirely by human activities,
while others come from a combination of natural sources and human activities.
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Many of these major greenhouse gases remain in the atmosphere for tens to thousands
of years after being released. They become globally mixed in the lower part of the
atmosphere, called the troposphere (the first several miles above the Earth’s surface),
reflecting the combined emissions worldwide from the past and present. Due to this global
mixing, concentrations of these gases are fairly similar no matter where in the world they
are measured. Other substances that have much shorter atmospheric lifetimes (i.e., less
than a year) are still relevant to climate change. Important short-lived substances that
affect the climate include water vapor, ozone in the troposphere, pollutants that lead to
ozone formation, and aerosols (atmospheric particles) such as black carbon and sulfates.
Water vapor, tropospheric ozone, and black carbon contribute to warming, while other
aerosols produce a cooling effect.

The word “partner” in line 1 is closest in meaning to ---------- s

1) attendant 2) help 3) colleague 4) participate

It is stated in the passage that the indicators ---------- .

1) are linked to climate change

2) are just related to the impact of climate change

3) try to identify the extent to which an indicator is driving climate change

4) show relative role of climate change in causing a trend in an observed indicator
According to the passage, West Nile Virus indicator ---------- .

1) is a fatal disease 2) can cause climate change

3) is related to human activity 4) Will be influenced by climate change
It can be inferred from paragraph 2 that ---------- .

1) greenhouse gases become mixed in stratosphere

2) except black carbon, other aerosols have a cool effect on climate

3) concentration of greenhouse gases in Europe is much higher than in Asia

4) ozone can remain in lower part of the atmosphere for tens to thousands of years
According to the passage, which gas has an atmospheric lifetime less than a year?

1) Ozone 2) Methane 3) Carbon black 4) Nitrous oxide
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